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1 Bk 500 0mW 148 9:30 8:50 ~ 9:10
2 % 100mH (0.838m) 3 #A 10:15 9:35 ~ 9:55
3 B 110mH((.067m) 3 8 10:25 9:45 ~ 10:05
4 z 400m 5 #A 10:40 10:00 ~ 10:20
5 B 400m 13 #8 11:00 10:20 ~ 10:40
6 L8 100m 17 #8 11:45 11:05 ~ 11:25
7 B 100m 33 #A 12:30 11:50 ~ 12:10
8 z 1500m 2 #8 13:55 13:15 ~ 13:35
9 B 1500m 1 %8 14:10 13:30 ~ 13:50
10 % 4x100mR 4 4 14:55 Jjj)fﬁgﬁ;;‘;fi
11 B 4x100mR 8 48 15:10 | J4:30 ~ 1450
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1 5 = B OB 28 & 10:00 9:10 ~ 9:30
2 2 B 5 B%A 3 4& 10:30 9:00 ~ 9:30
3 X £ OWE OB 44 % 13:00 12:10 ~ 12:30
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=5 faik (6. 000kg) 18 £
1 5 Rahiz (7. 260ke) 4 £ 10:00 9:10 ~ 9:30
Y. 600ke) 18 &
2 8 Y (0.800kg) 44 % 12:00 11:10 ~ 11:30
3 & Fahi% (4. 000kg) 8 4 14:00 13:10 ~ 13:30
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1 X 4 00mH (0.762m) 2 #8 9:45 9:05 ~ 9:25
2 5 400mH(0.914m) 4 48 9:55 9:15 ~ 9:35
3 -8 800m 4 48 10:15 9:35 ~ 9:55
4 5 800m 7 48 10:35 9:55 ~ 10:15
5 -8 200m 15 #A 11:05 10:25 ~ 10:45
6 5 200m 23 #8 11:45 | 11:05 ~ 11:25
7 -8 3000m 148 12:45 12:05 ~ 12:25
8 5% 5000m 4 13:05 12:25 ~ 12:45
. 13:45 ~ 14:05
10 = 4x400mR 4 4 14:25 A4 SRR 13:00
. 14:20 ~ 14:40
A % 4x400mR 8 % 15:00 A4 SRR 13:35
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L2 E fE OBk 88 £
1 10:00 9:10 ~ 9:30
-8 E B OB 20 £
2 8 ¥ 5 BB 3 & 10:30 9:00 ~ 9:30
3 5 E B Bk 31 & 13:00 12:10 ~ 12:30
4 z = B OB 22 & 14:00 13:10 ~ 13:30
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5 &2 000kg) 3 4
1 10:00 9:10 ~ 9:30
=5 A% 0. 750ke) 21 &
2 M (1. 000ke) 8 % 12:30 11:40 ~ 12:00
5 -1 (7. 260kg) 2 %
3 =5 nvv-1% (6. 000kg) 54 14:30 13:40 ~ 14:00
. 3-#% (4. 000kg) 3 %




